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Chengdu No.7 High School International Department
English Entry Exam Sample Paper

Exam Duration: 2 hours

Exam Content: 4 Parts - Listening, Reading, Use of English, and Writing
Exam Full Mark: 150 Points

Exam Instruction: Please answer all the questions in the exam paper and fill in

the corresponding boxes on the answer sheet.

Name (Chinese & Pin Yin):

Name (English):

Date:

Exam No.:

Seat No.:

Partl: Listening

Section 1(2 points*10= 20 points)
Questions 1-10
You will hear 10 short talks by some teachers at school. As you listen, choose what you hear for question

1- 10. You will hear each talk OnCE only.



What does the teacher ask the students to bring with them?
A. A bottle of water

B. A pen and a notebook

C. Bus ticket

D. Museum ticket

What is the main idea of the talk?

A. The teacher tells the students to clean the lab

The teacher informs the students some notice about the lab

The teacher tells students not to touch anything dangerous in the lab

Caw

The teacher tells students to take everything before leaving the lab

What is the purpose of the talk?

A. To encourage the students to participate in the New Year’s concert

To inform the students that there is an audition(i{ ") on next Friday

To encourage the students to help with the New Year’s concert’s decoration(Z%/ffi)

Caw

To inform the students that there is a new year’s concert

What is the most important rule in the library?
A. Keep quiet

Put everything in order

Return the books on time

Caw

Not to talk to anyone else

What time can the students go to the gym?
A. 9:30 am this Friday

B. 5:30 pm next Friday

C. 4:00 pm next Saturday

D. 8:30 am next Saturday

What is the purpose of the talk?

A. To postpone(4E #fl) the paperwork that students will hand in next time
B. To give requirements of the work to students

C. To ask students to write down the purpose of their work

D. To ask students to avoid including details in their paperwork next time

What will the teacher probably do next?

A. Read an important sentence from a certain kind of material
Talk about the order in a word framing

Ask students to study the emphasis of the textbook

Caw

Make sentences from the textbook

What does the teacher ask the students to do?
A. Change the topics of their reports
B. Work as a group to complete their reports



C. Write another report
D. Hand in all the reports

9. What does the teacher ask the students to do?

10.

A.
B.
C.
D. Finish the assignment({F:5%) of literature in four days

Get fully preparation for the coming test of literature( 3(%%)
Study literature and science in two days
Finish the literature project in six days

Why is the principal talking to all the students?

A.

Caw

To ask students to play computer games

To ask students to take as many classes as possible everyday
To ask students to learn more on weekends

To ask students to enroll in (7¥/I}) some computer classes



Section 2(1 point*10 = 10 points)
Questions 1-10

Your will hear a man called Tim and a woman called Laura discussing preparations for their

holiday. First, you have some time to look at questions 1-10.Complete the sentences below by

writing One word and /or A Number. You will be heard TWice.

Things to Do Before We Go

Example Answer
Collect the currency
® Cancel appointment with the 1.
® Take the 2. starting on Tuesday
® Buy

-two pairs of 3.

-a small bag

-a spare 4.

-an electrical 5.

® Bookabé.

Instructions for Laura’s mum

® [ cave Laura’s mum the vet’s details:

Name: Colin 7.

Tel: 8.

Address: Fore Street (opposite the 9. )
Ask Laura’s mum to water the plants

® Ask Laura’s mum to meet the heating engineer on 10.




Part 2: Reading (2 passages. 2 Points* 25 =50 points)

Passage One
Questions 1-10

According to the passage, choose the best choice for each question.

The Expression of Emotions
Paragraph 1: Joy and sadness are experienced by people in all cultures around the world, but how
can we tell when other people are happy or despondent? It turns out that the expression of many emotions

may be universal. Smiling is apparently a universal sign of friendliness and approval. Baring the teeth in a

hostile way, as noted by Charles Darwin in the nineteenth century, may be a universal sign of anger. As
the originator of the theory of evolution, Darwin believed that the universal recognition of facial
expressions would have survival value. For example, facial expressions could signal the approach of
enemies (or friends) in the absence of language.

Paragraph 2: Most investigators concur that certain facial expressions suggest the same emotions
in all people. Moreover, people in diverse cultures recognize the emotions manifested by the facial
expressions. In classic research Paul Ekman took photographs of people exhibiting the emotions of anger,
disgust, fear, happiness, and sadness. He then asked people around the world to indicate what emotions
were being depicted in them. Those queried ranged from European college students to members of the
Fore, a tribe that dwells in the New Guinea highlands. All groups, including the Fore, who had almost no
contact with Western culture, agreed on the portrayed emotions. The Fore also displayed familiar facial
expressions when asked how they would respond if they were the characters in stories that called for basic
emotional responses. Ekman and his colleagues more recently obtained similar results in a study of ten
cultures in which participants were permitted to report that multiple emotions were shown by facial
expressions. The participants generally agreed on which two emotions were being shown and which
emotion was more intense.

Paragraph 3: Psychological researchers generally recognize that facial expressions reflect
emotional states. In fact, various emotional states give rise to certain patterns of electrical activity in the
facial muscles and in the brain. The facial-feedback hypothesis argues, however, that the causal
relationship between emotions and facial expressions can also work in the opposite direction. According
to this hypothesis, signals from the facial muscles ("feedback") are sent back to emotion centers of the

brain, and so a person's facial expression can influence that person's emotional state. Consider Darwin's



words: "The free expression by outward signs of an emotion intensifies it. On the other hand, the
repression, as far as possible, of all outward signs softens our emotions." Can smiling give rise to feelings
of good will, for example, and frowning to anger?

Paragraph 4: Psychological research has given rise to some interesting findings concerning the

facial-feedback hypothesis. Causing participants in experiments to smile, for example, leads them to

report more positive feelings and to rate cartoons (humorous drawings of people or situations) as being
more humorous. When they are caused to frown, they rate cartoons as being more aggressive.

Paragraph 5: What are the possible links between facial expressions and emotion? One link is
arousal, which is the level of activity or preparedness for activity in an organism. Intense contraction of
facial muscles, such as those used in signifying fear, heightens arousal. Self-perception of heightened
arousal then leads to heightened emotional activity. Other links may involve changes in brain temperature
and the release of neurotransmitters (substances that transmit nerve impulses.) The contraction of facial
muscles both influences the internal emotional state and reflects it. Ekman has found that the so-called
Duchenne smile, which is characterized by "crow’s feet" wrinkles around the eyes and a subtle drop in the
eye cover fold so that the skin above the eye moves down slightly toward the eyeball, can lead to pleasant
feelings.

Paragraph 6: Ekman’s observation may be relevant to the British expression “keep a stiff upper
lip” as a recommendation for handling stress. It might be that a “stiff” lip suppresses emotional
response—as long as the lip is not quivering with fear or tension. But when the emotion that leads to
stiffening the lip is more intense, and involves strong muscle tension, facial feedback may heighten

emotional response.

1. The word “despondent” in the passage is closest in meaning to

(A) curious (B) unhappy (C) thoughtful (D) uncertain

2. The author mentions "Baring the teeth in a hostile way" in order to

(A) differentiate one possible meaning of a particular facial expression from other meanings of it
(B) support Darwin's theory of evolution

(C) provide an example of a facial expression whose meaning is widely understood

(D) contrast a facial expression that is easily understood with other facial expressions



3. The word “concur” in the passage is closest in meaning to

(A) estimate (B) agree (C) expect (D) understand

4. The word “them” in the passage refers to

(A) emotions (B) people (C) photographs (D) cultures

5. According to paragraph 2, which of the following was true of the Fore people of New Guinea?
(A) They did not want to be shown photographs.
(B) They were famous for their story-telling skills.
(C) They knew very little about Western culture.

(D) They did not encourage the expression of emotions.

6. According to the passage, research involving which of the following supported the

facial-feedback hypothesis?

(A) The reactions of people in experiments to cartoons
(B) The tendency of people in experiments to cooperate
(C) The release of neurotransmitters by people during experiments

(D) The long-term effects of repressing emotions

7. The word rate in the passage is closest in meaning to

(A) judge (B) reject (C) draw (D) want

8. The word “relevant” in the passage is closest in meaning to

(A) contradictory (B) confusing (C) dependent (D) applicable

9. According to the passage, stiffening the upper lip may have which of the following effects?
(A) It first suppresses stress, then intensifies it.
(B) It may cause fear and tension in those who see it.
(C) It can damage the lip muscles.

(D) It may either heighten or reduce emotional response.



10. Look at the four squares [m] that indicate where the following sentence could be added to the
passage.

This universality in the recognition of emotions was demonstrated by using rather simple
methods.

Where would the sentence best fit?

Paragraph 2: Am Most investigators concur that certain facial expressions suggest the same
emotions in all people. Bm Moreover, people in diverse cultures recognize the emotions manifested by the
facial expressions. Cm In classic research Paul Ekman took photographs of people exhibiting the emotions
of anger, disgust, fear, happiness, and sadness. Dm He then asked people around the world to indicate
what emotions were being depicted in them. Those queried ranged from European college students to
members of the Fore, a tribe that dwells in the New Guinea highlands. All groups, including the Fore,
who had almost no contact with Western culture, agreed on the portrayed emotions. The Fore also
displayed familiar facial expressions when asked how they would respond if they were the characters in
stories that called for basic emotional responses. Ekman and his colleagues more recently obtained similar
results in a study of ten cultures in which participants were permitted to report that multiple emotions
were shown by facial expressions. The participants generally agreed on which two emotions were being

shown and which emotion was more intense.



Passage Two
Questions 11-20
Answer the following questions based on the article by choosing the appropriate answer provided.

Educational Attitudes

Students’ life at American universities is chaotic during the first week of each quarter or semester.
Registering for classes, becoming familiar with the buildings on campus, buying books, adding and
dropping classes, and paying fees are confusing for everyone. During this busy period there is little time
for students to anticipate what they will later encounter in the classroom.

International students, accustomed to their countries’ educational expectations, must adapt to new
classroom norms in a foreign college or university. In some classrooms around the world students must
obey their teacher’s commands and remain silent during a class period. In others, students may talk, eat
and smoke during lectures as well as criticize a teacher’s methods or contradict his or her statements. It is
not always easy to understand a new educational system.

Diversity in Education

There is considerable variety in university classrooms in the United States. Because of diverse
teaching methods and non-standardized curricula, no two courses are identical. Nevertheless, there are
shared features in American college and university classrooms despite the diversity of educational
institutions of higher learning.

Active participation

Participation in the classroom is not only accepted but also expected of the student in many courses.
Some professors base part of the final grade on the student’s oral participation. Although there are formal
lectures during which the student has a passive role (i.e., listening and taking notes), many courses are
organized around classroom discussions, students questions, and informal lectures. In graduate seminars
the students make presentations and lead discussions. The students do the actual teaching in these
seminars.

A professor’s teaching style is another factor that determines the degree and type of student
participation. Some professors prefer to control discussion while others prefer to guide the class without
dominating it. Many professors encourage their students to question and challenge their ideas.

In the teaching of science and mathematics, the dominant mode of instruction is generally traditional,
with teachers presenting formal lectures, and students take notes. However, new educational trends have
emerged in the humanities and social sciences in the past two decades, for example, students are often
required to solve problems in groups, design projects, make presentations, and examine case studies.
Since more college or university courses are “applied” rather than theoretical, they stress “doing”.

The Teacher-Student Relationship
Many instructors believe that an informal, relaxed classroom environment is helpful to learning and
innovation. It is not uncommon for students to have friendly relationships with their professors. The
casual professor is not necessarily a poor one and is still respected by students. Although students may be
in a subordinate position, some professors treat as equals. However, no matter how casual professors
would like to be, they still are in a position of authority.
Professors may establish social relationships with students outside of the classroom but in classroom they
maintain the instructor’s role. A professor may have coffee one day with students but the next day expect
them to meet a deadline for the submission of a paper or to be prepared for a discussion or an exam. The

9



professor may give extra attention outside of class to a student in need of help but probably will not treat
him or her differently when it comes to evaluating school work. Professors have several roles in relation
to students; they may be counselors and friends as well as teachers. Students must realize that when a
teacher’s role changes, they must appropriately adapt their behavior and attitudes.

Independent Learning
Many teachers believe that the responsibility for learning lies with the student. If a long reading
assignment is given, instructors expect students to be familiar with the information in the reading even if
they do not discuss it in class or give an examination. The ideal student is considered to be one who is
motivated to learn for the sake of learning, not the one interested only in getting high grades. Sometimes
homework is returned with brief written comments but without a grade. Even if a grade is not given, the
student is responsible for learning the material assigned.
When research is assigned, the professor expects the student to take the initiative and to complete the
assignment with minimal guidance. It is the student’s responsibility to find books, periodicals, and
articles in the library. Professors do not have the time to explain how a university library works; they
expect students, particularly graduate students, to be able to exhaust the reference sources in the library.
Professors will help students who need it, but prefer that their students not be overly dependent on them.
(This differs from teacher-student relationships in other countries.) If a student has problems with
classroom work, the student should either approach a professor during office hours or make an
appointment.
The university classroom in the United States manifests cultural values through professors and students’
expectations and attitudes. Educational practices such as student participation indicate a respect for
individual responsibility and independence. Alternative teaching methods show as cultural preference for
innovation. The manner in which education is provided in any country reflects basic cultural and social
beliefs of that country.

11. From paragraph one you know that student life at American universities is during the first
days of a semester.
A. interesting B. varied
C. disorderly D. leisurely

12. Paragraph 2 indicates that.
A. international students must obey their teacher’s commands
B. students may contradict their teacher’s statements
C. students may criticize a teacher’s methods

D. international students must adapt to new classroom norms in a foreign college or university

13. From paragraph 3 we know that there are teaching methods and
curriculum in the United States.
A. diverse; standardized B. identical; non-standardized
C. identical; standardized D. diverse; non-standardized
14. According to paragraph 4, students are encouraged to take part in the classroom in American
universities.
A. apassive B. an active
C.no D. an impressive

10



15. According to paragraph 5, what determines the degree and type of student’s participation is.
A. a professor’s attitude towards teaching
B. the curriculum
C. the classroom norms
D. the new educational trends

16. Paragraph 6 tells us that by the traditional mode of instruction which dominates the teaching of science and
mathematics.
A. students have classroom discussions
B. students make presentations and lead discussions
C. teachers present formal lectures and students design projects
D. teachers present formal lectures and students take notes

17. In America a casual professor is a poor one and is by students.
A. usually; looked down upon B. sometimes; respected
C. not necessarily; respected D. always; not respected

18. Paragraphs 7 and 8 are about.
A. relationships between students
B. relationships between teachers
C. how professors evaluate students’ school work
D. the teacher-student relationship

19. According to paragraphs 9-11.
A. students are often given long reading assignments
B. independent learning is encouraged and highly admired in American universities
C. professors expect students to complete research assignments with teachers’ guidance
D. professors are often responsible for administrative work within their departments.

20. What American values does the university system reflect?
A. Democracy, socialism, and authority.
B. Absolute respect, formality, and tradition.
C. Individual responsibility, independence, and innovation.
D. Practice, connection with society, and independence.

11



Part 3: Use of English (1 point *40 =40 points)

Section 1
Questions 1-10
Choose the best answer. (10 points)

1. —What’s the name?
—Khulaifi. I spell that for you?
A.Shall B.Would C.Can D.Must

2.The telephone system after the terrible flood hit the area the day before
yesterday.
A.broke down B.brokeout C.brokeup D. broke into

3. The medicine that it makes my son cry every time he takes it.
A. is tasted so bitterly ~ B. tastes so bitter  C. is tasting bitterly D. tastes bitter

4. —English has a large vocabulary, doesn’t it?
—Yes. more words and expressions and you will find it easier to read and
communicate.
A.Know  B. After knowing  C.Ifyouknow D.Knowing

5. After the heated discussion, the students realized they needed to be successful
in Chengdu No. 7 International High School.
A. which B. that C. what D. why

6. —Could you do me a favor and translate the note into English?

A. My pleasure  B. Never mind C. With pleasure ~ D. I could

7. The Giant Panda Research Centre is the last place Mr. Green is going to visit  before he leav

es Chengdu.
A. where B. what C.it D./

8. Seeing the sun above the surface of the sea, we let out a shout of joy.

A. torise B. rising C. to raise D. raising

9. The number of foreign students studying in Chinese university going up in the past 10 years, a
nd one third of them to learn Chinese.

A. is; choose B. are; has chosen C. has been; have chosen D. have been; chose

10. —Learning a foreign language isn’t easy. It takes time.

—I agree. . There’s no short cut.
A. All roads lead to Rome B. Practice makes perfect
C. Two heads are better than one D. Well begun, half done

12



Section 2
Questions 11-18
Complete the following passage with the words or phrases in the box. Each can only be used once . There

is one more word than you need. (8 points)

A. weak B. break C. confident D. at the end of
E. possibly F. breath G. do well in H. hobbies L. politely

A headmaster is giving a speech about how to perform successfully in an interview to a new school.

Interviews are held so that you can learn about the school and the school can learn
about you. You should spend a couple of hours getting ready for the interview carefully. Then
you will 11 understand your questions better and get right answers on the day of the
interview.

First find out about the school. Read the school introductions and look at the school
websites. Then think about yourself- your strong points and 12 ones. Try to find a
few examples you could give the interviewers.

What else you want to talk the interviewer about yourself?. For example, you might
want to speak about your interests and 13 outside school. These tell the interviewer
what kind of person you are. Be ready to talk about why you enjoy them.

Dress properly on the day. Arrive a few minutes early. When you first meet the

interviewer, greet him or her 14 . Don't forget to smile and make eye contact. First
impressions are very important. You want the interviewer to think you are 15 and
friendly.

If you get nervous, take a deep 16 to calm yourself down. Listen to the
interviewer with great care. If you don't understand the question, ask the interviewer to
repeat it. Last but not least, 17 the interview, don't forget to thank the interviewer
and say goodbye.

I'm sure that you will 18 your interviews. Best of luck, boys and girls!

13



Section 3
Questions 19-30
The word at the end of each of the following sentences can be used to form another word which fits in the
space in the sentence. Write this word in the space. (12 points)
Example: My teacher  encouraged me to take this COURAGE
examination.

NB: Spelling has to be accurate.

19 More research has to be done, but believe they will find something soon. SCIENCE

20 The reason her books are so is that she works very hard. SUCCESS
21 She is one of the women in the UK. RICH
22 The second ring road of Chengdu has been to reduce traffic jams. WIDE

23 Friendship can’t be measured by money, but money is a(n) way to test how
strong the friendship is. EFFECT

24 Diet and exercise are important. EQUAL
25 After waiting for three hours, the long queue of people became . PATIENCE

26 People over 60 can get basic health care free of charge by the community.
PROVIDE

27 , our government will take measures to ensure food safety. HOPE

28 My first of Chengdu No. 7 International High School was that it was
beautiful and full of energy. IMPRESS

29 Not being able to with US students has become a serious problem for overseas Chinese st
udents. COMMUNICATION

30 Is there any that you could keep an eye on my house while I’'m away for
holidays? POSSIBLE
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Section 4
Questions 31-40

On each line with question number of the passage below, there is one or two errors, either an incorrect
word or verb form or a missing word or an extra word. Correct the underlined error in the passage.

Write the corrected version (one word only) in the space given. (10 points)

Hi, Janice,
It's /a month since I came to this new school and I really | EXAMPLE: been

want share with you some of the problems I have been | 31)

experiencing.
As I tell you last time, I made three new friend here. 32)
(2 mistakes) 33)

We hang out together during lunch and after school. We

have been spending a lot of time sing in karaoke bars. 34)

It's been three Saturdays now and it really costs me many.| 35)

And I started to see this as a time—wasting activity!

In fact, I don’t like to go anymore, so I’'m afraid I’ll lose | 36)

their friendship. How do you think I should do? 37)
If you are me, would you talk to him? 38)
(2 mistakes) 39)
Please help with me and give me some advice. 40)

Grave

Part4  Writing (30 points)

In some middle or high schools, students are asked to wear school uniforms. Do you think it is necessary
for students to wear school uniforms?

Write an essay of at least 150 words on the topic.

15
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